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STAFF SELECTION COMMISSION MULTI TASKING (NON-TECHNICAL) STAFF

Model Set
N A M E & e s ROLL NO : ..o
TIME : 1 Hour 30 Min. FULL MARKS : 100
General Awareness 14. Which of the following chemical compound is used as
1. The Indian Standard Time is calculated from the clock a preservative in pickle? _ _
tower of (1) Calcium Metabisulphite  (2) Sodium Nitrate
(1) Hamirpur (2) Rampur (3) Sodium Benzoate (4) Calcium Carbonate
(3) Mirzapur (4) Sambalpur 15. Arrange the following hills according to their location
2. The upper part of the respiratory tract is provided with from north to south: _
small hair-like structures called __ A. Nallamala hills B. Shevaroy hills
(1) bronchi  (2) cilia  (3) villi  (4) alveoli C. Palkonda hills D. Javadi hills
3. Which of the following Trophy/Cup is associated with (1) D-B-A-C (2) A-C-B-D
the game ‘Bridge’? (3) A-C-D-B (4) C-A-D-B
(1) Holkar Trophy (2) Amrit Diwan Trophy 16. Arrange the following metals in the decreasing order of
(3) Thomas Cup (4) Jai Laxmi Cup reactivity: )
4. Which of the following is a traditional painting of Odisha? (1) tron > sodium > silver > gold
(1) Warli (2) Pattachitra (2) Sodium > silver > iron > gold
(3) Sanjhi (4) Madhubani (3) Gold > silver > iron > sodium
5. The book ‘War and Peace’ is written by: (4) Sodium > iron > silver > gold )
(1) Leo Tolstoy (2) Dalai Lama 17. Noble gases belong to which of the following groups of
(3) Maroof Raza (4) H.G. Wells the periodic table?
6. When was the first amendment made to the Indian ) _16 ) 18_ @) 13 4 15
Constitution? 18. Which of the following newspaper was NOT launched
(1) 1954  (2) 1951  (3) 1953  (4) 1952 by Lala Lajpat Rai? _
7. What will be the size of image formed by a concave (1) The Pupil (2) Young India
mirror when an object placed between Pole and Focus? (3) Mahratta _ (4) The Punjabi
(1) Same Size (2) Enlarged 19. Which of the following relations is true?
(3) Point Size (4) Diminished (1) GNP=GDP x Net factor income from abroad
8. In which year the National Food Security Act was passed (2) GNP=GDP — Net factor income from abroad
in India? (3) GNP=GDP + Net factor income from abroad
(1) 2011 () 2013 (3) 2012 (4) 2014 (4) GNP=GDP / Net factor income from abroad
9. Which of the Article of Indian Constitution tells about | 20- Who was the founder of Hyderabad State?
the election of President? (1) Nizam-ul-Mulk Asaf Jah (2) Saadat Khan
(1) Article 51A () Article 54 (3) Tipu Sultan (4) Murshid Quli Khan
(3) Article 51 (4) Article 53 21. Which among the following is the lowermost plants of
10. ‘Amoeba’ belongs to which of the following kingdom? the plant kingdom? _
(1) Monera (2) Fungi  (3) Protista (4) Animalia (1) Thallophyta (2) Pteridophyta
11. Which of the following Motif is present on 2000 Rupee (3) Phanerogamae (4) Bryophyta _
note of Indian Currency? 22. Which Economic Survey was also called ‘Pink Economic
(1) Mangalyaan (2) Sanchi Stupa Survey” ?
(3) Sun Temple (4) Hampi with Chariot (1) Economic Survey 2017-18
12. Which of the following is NOT a Constitutional body? (2) Economic Survey 2015-18
(1) Finance Commission (3) Economic Survey 2016-17
(2) NITI Aayog (4) Economic Survey 2018-19
(3) National Commission for Scheduled Tribes 23. Who has been appointed as the CEO of the Unique
(4) Election Commission Identification Authority of India?
13. The full form of INTACH is: (1) Faiz Ahmed Kidwai  (2) Saurabh Garg
(1) Indian National Trust for Art and Cultural Heritage (3) S.P. Saravanan ~ (4) Madanlal Rathore
(2) Indian National Trust for Archaeological and | 24- The Spices Board of India has signed an MoU with
Cooperative Heritage which organization for the e-Spice Bazaar portal?
(3) Indian National Trust for Architectural and (1) UNESCO (2) WHO
Calligraphic Heritage ®) _UNDP “) UNWTO -
(4) Indian National Trust for Art and Cooperative 25. Which country hosted the BRICS Finance Ministers
Heritage Meeting 2021?
(1) India (2) Russia (3) China  (4) Japan
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L Numerical Aptitude 12. The lengths of two diagonals of a rhombus are 24 cmand ()
8 1. Which smallest number must be subtracted from 400, so 32 cm. What is the side (in cm) of the rhombus? %)
0] that the resulting number is completely divisible by 7? (1) 20 (2) 40 (3) 202 4 4072 I'(I?I
(16 @1 Q)2 (4)4 13. Pipe A can fill a tank in 6 hours. Pipe B can fill the same
@ 2. The simple interest on a sum for a certain number of tank in 8 hours. Pipe A, B and C together can fill the same @
LLJ years, same as the rate percentage of the interest, is equal tank in 12 hours. Then which of the following statements
O sum itself. The number of years is equal to : is true for pipe C? ()
N 15 (2) 10 (®)8 @1 (1) It can fill the tank in 4 hours 40 minutes 0
0] 3. Speed of a_boat is 8 km/hr in still water and the speed of (2) It can fill the tank in 4 hours 48 minutes @)
the stream is 2 km/hr. If the boat_ takes 8 hours togotoa (3) It can empty the tank in 4 hours 48 minutes m
o pr:aceland’)come back, then what is the distance (in km) of (4) It can empty the tank in 4 hours 40 minutes PY
the place? 14. 0.1 percent of 1.728 x 10° spherical droplets of water,
LL] (1) 24 ()30 (3) 45 (4) 42 each of diameter 2 mm, coalesce to from a spherical bubble. @)
8 4.  Which of the following relation(s) is/are true? What is the diameter (in cm) of the bubble? (Uj)
LJ2-33 1332 N 2-33 112 (2)16 (3)1.8 (4)2.4
O (1) Only | 2) Only I 15. What is the value of m
(3) Neither I nor 1 (4) Either L or 1l 32 +40f 2 x 3+ [50f 6—{7 of 8(10+6 of [ )
5. Aand B together can complete a work in 8 days. B alone
LU - 0)
can complete the work in 24 days. In how many days A 5
8 alone carﬁJ complete the same W0¥k? Y 6 +5-1) +80} “7x3=2 %
1) 16 (2) 14 (3) 12 (4)13
Q) ( . - . L 1)75 (2)175 (3)125 (4)24.5 m
°® 6. Afterf_gtlv:‘ngsi/d|T;:oun(tj_of 400tA;_on_an a:[r']de’ tr;]erte Is’lftl;” 16. The average of 13 numbers is 42. If a 14th number is
a profi (_J 0. [T O discount IS given, then what will be included, then the average becomes 44. What is the 14th {
L] the profit percentage? number?
(1)109.33  (2)25 (3)107.67 (4)108.33 ' 0)
O Directions(7-8): The line chart given below shows the () 70. (2) 62 (3) 66 (4) 68 )]
N dit lothes (in 000°) for the di 17. What is the HCF of 23 x 3% and 25 x 32? 0O
) expenditure on clothes (in ) for the given years. 1)25x3%  (2)28x3% (3)28x32  (4)25x 34 i
a 3 b 4 c 5
o 4000 1 3800 18. If —=—,—=— and — ==, then the sum of the @
~ 3500 - b 4c¢c 5 d 6
L 3 i numerator and the denominator (which are coprimes) of @
$) S 3000 )
c
n < 2500 A a o 0
(&) .
O] 5 2000 1 (aj IS m
[ g 1288 : 5 (1) 1025 (2) 4097 (3) 2049 (4)513 o
X 19. Aand B invest in a business in the ratio 3 : 2. If 5% of the
EJ) “ 500 + total profit goes to charity and A’s share is Rs. 855, the 0)
N 2011 2012 2013 2014 2015 2016 total profit is: (Uj)
(1) Rs. 1425 (2) Rs. 1500
Q)
. Expenditure in year is how much percent more than ) : o .
7 E di : 2016 is h h h (3) Rs. 1537.50 (4) Rs. 1576 m
o the expenditure in year 2015? 20. The base and hypotenuse of a right angled triangle are 9 Py
L (1) 19.07 ) 23.57 (3) 21.16 (4) 17.64 ((T; iré%i%ngm respectively. W?;)t f,;giarlr:ga of the triangle? 0
8. What is the average expenditure (in 000’) per year from
8 the year 2014 to 20167 (3) 190 cm? (2) 160 cm? n
o (1) 3120 (2) 3080 (3) 3000 (4) 3430 21. Vj}_/h?_tzllssthe med2|ar112f 7,18, Bé 91;1 15, 21,d14i§6? O
9. Agoes from Point X to Point Y at a speed of 60 km/hr and 22 (Th) - f h( ) . ©) i 3 4( ?f h . m
o comes back with a speed of 80 km/hr. What is the average : € r?t'r? ° t € ages ohtwohpersrc: nsk;s 3 C the ageho o
L speed (in km/hr) of A for going and coming back? oneo them Is grgater t?ant e other by 8 years, then what
(1) 66.66  (2)68.57 (3)67.33  (4) 69.43 is the sum of their ages” ®
O 10. Total runs scored by three batsmen x, y and z are 1584. (1) 54 years (2)_58 years (3) 60 years (4) 5_6 years ()
)] Ratio of runs scored by x and yis 4 : 3 and y and z is 5 : 23. In a 60 liter solution of acid and water, the ratio of acid @)
Q) 3. How many runs are scored by x? ' ' and water is 3 : 7. How much(in liter) acid is to be mixed T
P (1') 742 2) 614 @?) 516 (4) 720 in the solution so that the ratio of acid and water in the
11. Rs 5000 are invested in a scheme of compound interest. If resulting solution is 1 : 22 et
L ®
) 0y
N @
Q) m

the rate of interest is 12% per annum, then what is the
interest earned (in Rs) in 2 years?

(1) 1450 (2)1272  (3)1520  (4) 3450

1
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(3) Only conclusion Il follows
8l12]4/14 (4) Both conclusions | and Il follow
716|518 24. How many triangles are there in the given figure?
412|5|7?
1) 9 (2) 10 (3) 11 4) 12
17. In the following question, select the odd letters from the
given alternatives.
(1) CDEH  (2) JKLO (3) RSTW (4) EFGK
18. If 17 x 13 = 4 and 16 x 14 = 2, then 29 x 23 = ?
)5 27 3) 6 4)8
19. Pointing to a man, Heena said “he is the only son of ()8 (2) 10 @) 12 4) 14

GSCE e GSCE e GSCE e GSCE e GSCE e GSCE e GSCE e GSCE e GSCE e GSCE

20.

21.

22.

23.

wife of my father”. How is the man related to Heena?
(1) Grandfather (2) Husband

(3) Brother (4) Son

A piece of paper is folded and cut as shown below in
the question figures. Select from the given answer figures,
how it will appear when unfolded.

\\\ O
\f Jo
OODD % o I:Io OO OO O %
© o 3 o a2 lg o 0|2 % 3
0o, O oo 0 0,0 O[3 6,0
@ J| o _o o o0
oogo o O OO c oo
1) ) 3 4)

In the following question, select the odd number pair
from the given alternatives.

1)4:18 (2)7:51 (3)9:83 (4)6:34
Select the option in which the given figure is embedded.
(Rotation is not allowed)

) @ ®3) 4)

Read the given statement and conclusions carefully and
decide which of the conclusions logically follow(s) from
the statement.

Statement:

A very large number of students love dancing in rain
rather than studying in class.

Conclusions:

I. Rain keeps students healthy.

Il. Dancing is a good exercise

(1) Only conclusion | follows

(2) Neither conclusion | nor Il follows

25. Satya’s birthday falls on 15th August and Meena’s

birthday falls on 25th June. If Meena’s birthday was on
Wednesday, what was the day on Satya’s birthday in
the same year?

(1) Friday (2) Monday
(3) Tuesday (4) Saturday
English

Direction : Select the most appropriate option to fill in
the blank.

The students are in great of their teachers.
(1) praise (2) awe (3) respect (4) gusto
Direction : Select the most appropriate meaning of the
given idiom.

To pick up the threads

(1) To examine an issue seriously

(2) Being received very warmly

(3) To restart from the previous closing point

(4) At a short distance

Direction : Find the part of the given sentence that has
an error in it. If there is no error, choose ‘No error’.
The landlord made the boys (1)/ to do the garden (2)/
make over all over again. (3)/ No error (4)

1)1 ) 2 3)3 4) 4
Direction : Select the most appropriate synonym of the
given word.

Profuse

(1) Thrifty (2) Sparse (3) Aplenty (4) Scarce
Direction : In the following question, out of the given

four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Birds of the same feather

(1) People with a generous heart

(2) To get into trouble together

(3) To be in a totally helpless condition

(4) People with similar character

Direction : Choose the correctly spelt word.

(1) Noticeable (2) Noticable

(3) Nauticable (4) Noteceable

Direction : Select the most appropriate option to fill
in the blank.

The origin of ice-cream dates back nearly half-
a-century.

1) to (2) at (3) from (4) into

Direction : Select the most appropriate option to
substitute the underlined segment in the given sentence.
If there is no need to substitute it, select No Improvement.
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12.
13.
14.
15.

16.

17.

Friends stand by each other on time of need.

(1) for time (2) in times

(3) No Improvement (4) of times

Direction : Find the part of the given sentence that has
an error in it. If there is no error, choose ‘No error’.
My parents asked me (1)/ that how long (2)/ | would
stay there. (3)/ No error (4).

(@1 (b) 2 (c) 3 (d) 4
Direction : Select the most appropriate synonym of the
given word.

Rectify

(1) Raid (2) Bend (3) Folly  (4) Amend

Directions (11-15) : In the following passage some

words have been deleted. Fill in the blanks with the help

of the alternatives given. Select the most appropriate

option for each blank.

Mr. Oliver was taking a shortcut (11)___ the pine

forest which was making sad, (12)___ sounds because

of strong winds. He (13)___ a lonely boy sitting on

a rock. (14)___ boy was weeping soundlessly. There

seemed to be (15)__  terribly wrong with the boy.

(1) through (2) by (3) along (4) of

(1) awesome (2) eerie (3) banging (4) aloud

(1) recorded (2) noticed (3) pointed (4) remarked

(1) One (2) Each ) A (4) The

(1) anything (2) nothing

(3) everything (4) something

Direction : Select the most appropriate option to fill in

the blank.

He is addicted to alcohol and exerts a bad influence
his family.

(1) for (2) on (3) about  (4) in

Direction : Select the most appropriate option to

substitute the underlined segment in the given sentence.

If there is no need to substitute it, select No Improvement.

For her, money is only the meto an end.

(1) the mefor an end

(2) meto end

(3) No Improvement

(4) a meto the end

18.

19.

20.

21.

22.

23.

24.

25.

Direction : Find the part of the given sentence that has
an error in it. If there is no error, choose . ‘No error’.
As a chef (1)/ Kajal is as good (2)/, if not better than
Mahender. (3)/ No error (4)

@1 ) 2 3)3 4) 4
Direction : Select the most appropriate option to
substitute the underlined segment in the given sentence.
If there is no need to substitute it, select No Improvement.
The wound on her hand is now heal completely.

(1) has now healing (2) No Improvement

(3) is now healed (4) is healing now
Direction : Choose the most appropriate word that can
substitute the given group of words.

Killing of pests

(1) Herbicide (2) Suicide (3) Pesticide (4) Patricide
Direction : Select the most appropriate option to
substitute the underlined segment in the given sentence.
If there is no need to substitute it, select No Improvement.
Luckily we have got the few minutes to spare.

(1) No Improvement (2) a little

(3) quite few (4) a few

Direction : Select the most appropriate antonym of the

given word.

Gloomy

(1) Cloudy (2) Bright (3) Dull (4) Greedy
Direction : Choose the correctly spelt word.

(1) Exausted (2) Intelligent

(3) Equaly (4) Amigrate

Direction : Choose the most appropriate word that can
substitute the given group of words.

A group of ships

(1) Fleet (2) Bevy  (3) Suite (4) Army
Direction : Choose the correctly spelt word.

(1) Genuine (2) Geniune (3) Ganuine (4) Jenuine

®
oy
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Answers with Explanation

®

@

)

4. (2)

)
@

@

@

@

10. (3)

11. (1)

General Awareness

In India, the IST is based on longitude 82.5°, which
passes through Mirzapur, near Allahabad in Uttar
Pradesh, and is 5 hours 30 minutes ahead of
Greenwich Mean Time (GMT), now called the
Universal Coordinated Time (UTC).

Tiny hairs called cilia protect the nasal passageways
and other parts of the respiratory tract, filtering out
dust and other particles that enter the nose through
the breathed air.

Holkar Trophy is associated with Bridge sport.
Bridge is the ultimate tricky card game that four
people can play with a pack of 52 cards.
Patachitra or Pattachitra is a general term for
traditional, cloth-based scroll painting, based in the
eastern Indian states of Odisha and West Bengal.
Patachitra artform is known for its intricate details
as well as mythological narratives and folktales
inscribed in it. Pattachitra is one of the ancient
artworks of Odisha, originally created for ritual use
and as souvenirs for pilgrims to Puri, as well as
other temples in Odisha.

War and Peace, historical novel by Leo Tolstoy,
originally published as Voyna i mir in 1865-69.
The formal title of the amendment is the
Constitution (First Amendment) Act, 1951. It was
moved by the then Prime Minister of India,
Jawaharlal Nehru on 10 May, 1951 and enacted by
Parliament on 18 June, 1951.

When an object is placed between principal Focus
and Pole of a concave mirror, an enlarged, virtual
and erect image is formed behind the mirror.

The enactment of the National Food Security Act,
(NFSA) 2013 on July 5, 2013 marks a paradigm
shift in the approach to food security from welfare
to rights based approach.

Under Article 54 of the Constitution, the President
is elected by an electoral college consisting of the
elected members of both Houses of Parliament and
of the Legislative Assemblies of the States.

The ameba is a protozoan that belongs to
the Kingdom Protista. The name ameba comes from
the Greek word amoibe, which means change
(Amoeba is also spelled ameba). Protists are
microscopic unicellular organisms that don’t fit into
the other kingdoms.

The new note of “2000 has Motif of Mangalyaan
(Mars mission) on the reverse. The colour of the
note is magenta and the size is 66 mm x 166 mm.
Other key features include geometric patterns
aligning with the overall colour scheme, both at the
obverse and reverse.

12. (2) NITI Aayog is a policy think tank of the Government

13. (1)

14

15

16

17. (2)

18.

19.

20

21.

- (3

- (3

- (4

@

©)

(D)

)

of India. It was established on 1st January, 2015
with the aim to achieve sustainable development
goals. It is a non-constitutional body.

The Indian National Trust for Art and Cultural
Heritage (INTACH) was founded in 1984 in New
Delhi with the vision to spearhead heritage awareness
and conservation in India.

Sodium benzoate is a common preservative in acid or
acidified foods such as fruit juices, syrups, jams and
jellies, sauerkraut, pickles, preserves, fruit cocktails,
etc.

e Nallamala Hills are a range of parallel hills and
valleys of the Eastern Ghats in eastern Andhra
Pradesh state, southern India. It is located south
of the Krishna River.

Palkonda Hills are a range of hills that form a part
of the Eastern Ghats in the southern Indian state
of Andhra Pradesh. They run along a northwest
to southeast direction, culminating at the
pilgrimage center of Tirupati.

Javadi Hills, range of hills, one of the larger of the
Eastern Ghats, in northern Tamil Nadu state,
southeastern India.

Shevaroy Hills, an outlying range of the Eastern
Ghats, north-central Tamil Nadu state, southern
India. The Shevaroy Hills occupies an area of
about 150 square miles (390 square km).

Noble gases are the seven chemical elements that
make up Group 18 (VIIIA) of the periodic table.
The elements are helium (He), neon (Ne), argon (Ar),
krypton (Kr), xenon (Xe), radon (Rn) and oganesson
(Gg).

Young India was a weekly paper or journal in English
published by Mohandas Karamchand Gandhi from
1919 to 1931.

GNP =GDP + Net factor income from abroad
(Net factor income from abroad = Factor income
earned by the domestic factors of production
employed in the rest of the World — Factor income
earned by the factors of production of the rest of
the world employed in the domestic economy)
Mir Qamar-ud-din Khan Siddiqi Bayafandi also
known as Chin Qilich Kamaruddin Khan, Nizam-ul-
Mulk, Asaf Jah and Nizam I, was the 1st Nizam of
Hyderabad.

Thallophyta are the lowermost plants of the plant
kingdom, without a well-differentiated body design.
This means that the plant body is not differentiated
as roots, stem and leaves. They are commonly called
algae, are permanently aquatic. Examples include
Spirogyra, Chara and Ulothrix.
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W 2 (1) The Pink-color Economic Survey 2017-18 tabled in If no discount is given, profit % will be )
@) Parliament by the former Union Minister for Finance 52 (0))
)] and Corporate Affairs, Late Shri Arun Jaitley laid =%x100 =108.33 O
@) special emphasis on Gender and Son meta-preference, m
® while providing an assessment of India’s performance 725
on gender outcomes relative to other economies. 7.(2) 3075X100 =23.57 ®
LLl 23. (2) Senior bureaucrat Saurabh Garg, a 1991 batch IAS ®
@) officer of Odisha cadre has been appointed as the . _2125+3075+ 3800 )
N CEO of UIDAL 8.(3) Average expenditure = S T— o
(D 24. (3) The Spices Board India has inked a Memorandum m
P of Understanding with UNDP India’s Accelerator _ 95000 = 3000
Lab to build a blockchain-based traceability interface 3 [ J
L for In_dlan spices. _ _ _ 2% 60 x80 ")
Q 25 (1) The Finance minister Nirmala Sitharaman emphasised | 9. (2)  Average speed = 60180 0
(7)) the key role the BRICS group was playing in + o)
Q) responding to the current global crisis through policy 9600 m
° support and by enhancing international policy “ a0 68.57
coordination. 10.(4) x:y=4:3-20:15 ®
LL] Numerical Aptitude y:2=5:3->15:9 ®
@) X:y:z=20:15:9 wn
Nig 5 20 O
o 7[400 X =1584x 27 =720 M
35
o S0
50 ) o
L 49 11. (2) Amount =5000 1+£ )
O 1 100 0
) (400 — 1) = 399 (Exactly divisible by 7) 98 % 28 0O
(M 2.(2) HereSI=P=R=T=1(let) =5000x25X25 = 6272 m
L _ i . Interest = 6272 — 5000 = 1272 ()
i 100 1
$) - 12=100 12. (1) Side of the rhombus =EV 247 4+ 32° 8
) =1=10
O L fi500 2
d d_ ==+/1600 m
° 3.9 1076 8 2
[
LL] 5848 =540=20 ®
O 30 )
) —d=30 13,3 L-1-2 @
o 11 ) 1276 8 M
® 4.2 Twoterms =22, 33 2_4_3 5 ®
L LCM of 2 and 3 is 6 YRRV 0
@) 1 Time taken by C to empty the tank wn
N 22 >2° 24 4 @)
O L =?hrs =4ghf5 = 4 hrs and 48 mins. m
() 3 32
14.(4) 1.728x10°x0.1% ®
Lu Hence :\3/5 >\/§ =1.728 x 103 m
Doy L2 1 4 (1Y o4 s @
M NE)) 8 24 24 12 5“(5) x1.728x10 :gnR O
M
12 days R3= 1728
® 51 wMP=100 =>R=1 o
SP = 60 =>R=12
L .. diameter of the bubble = (1.2x2) cm = 2.4 cm ()
8 cP-60x120 _ ¢ 15. (4) 32+4of2x3+[50f6—{70f8(10+60f%
O m

125

5
5 72 D+80}-7x3+2
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1N =32+ 4 of 2x3 + [5 of 6 — {7 of 8(10)+80}]-7x3 + 2 18+x 1 o
©) =32+ 40f 2 x 3+ [5 of 6 — {560+80}]-7x3+2 TR wn
n =32+40f2x3+[30-7]-7x3+2 @)
o 3 =2x=42-36=6 m
— 29 - _ 2 =>x=3
P =32+8x3+23-7x e °
L 1 24.(2) CP B paid =l400><ﬁ = 1750 0O
®) =12+23- —
2
n . 120 %
O =35-105=245 CP C paid =l750><ﬁ = 2100 m
® 15.() 42x13+n _
14 CP D paid =2100x -2 = 1785 ®
L =546 +n =44 x 14 100 0
O = 546 +n =616 3x n
n = 25.(2) —-10 Y
=n=70 . 5 2 O
(D 17.(3) HCF of 23 x 3% and 25 x32 m
=28x32 X y
.18.(1)a:b:c:d=3:4:5:6 ?75_10 [ J
Ll
ROk 2 2
n d 6 2 1024 10 o)
o Sum of the numerator and the demoninator = 6x =5y =100 ............. (i) m
°® 1+1024 = 1025 X+ Y= 1300 i (i)
19. (2) Let the total profit be x Solving (i) and (ii) o
w y = 700
O x - X =600 ¢
goes for chaity . wn
) 20 General Intelligence o)
@) . _19x 1.(1) ANT= (1+14+20)x3=105 m
° Remaining part =0 Similarly,
ATQ ASK = (1 + 19+ 11) x 3= 93 o
L ‘ 2.(3) Bat 6
O 19% 3 _gss Ball 0
n 20 5 Table O
O _ 855x20x5 E::" m
[ ~ 19x3 ®
L] = 15 x 100 = 1500 3.0 (Ar(B{c)
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1 2 - 2
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O] —4,6,7,9,14,15,18,21,26 6.(1) 9+143+13x11-160 n
8 Number of observations = 9 After interchanging ‘x” and ‘+” we get @)
' _ 941 _ 9+143x13+11-160 m
® - Median = > th observation =9+169-160=18 PY
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L = 5th observation = 14 @) M T A H O )
O 22.(4) 4x-3x=8 Ry 4T g4 47 )
)] =x=8 o)
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10. (3)

11. (1)
12. (2)
13. (3)
14. (3)

15. (4)

16. (3)

17. (4)

—1 sk Similarly, P—1,0Q
o—1,p E—2SF
M—15N T—1u
L=M+3
N=M+6
N=0+4
P=0+7

~P>N>L>0>M
HORSED —>AB

8+2+4=14
7+6+5=18
Similarly,

4+2+5=11

C+1D+1E+3H

J+1K+1L+30

18. (3)

19. (3)
20. (1)
21. (4)

22. (3)
23.(2)
24. (3)
25. (1)

1. (2)
3.(2)

4. (3)
9. (2)

10. (4)
15. (4)

19. (3)
25. (2)

But,

R+ls+lT+3W

E +1 F +1 G +4 K
17-13)=4

(16-14)=2

Similarly,

(29-23)=6

42+2 =18
72+2=51
92 +2=83
But, 62+ 2 = 34

English
2. (3)

“To’ will not be used because — made indicates forcing
someone to do something one does not want to do.

5.(4 6.(1) 7.(1) 8 (2

‘“That” will not be used because in indirect speech
of interrogative sentences, ‘that’ is not used.

11. (1)
16. (2)

12. (2)
17. (3)

13. 2) 14. (4)

an idiom which means nearly.
20. 3) 21.(4) 22.(2) 23.(2

18. (2) ‘as good as’ will replace ‘as good’. ‘As good as’ is

24. (1)

340S9 @ 30S9O @ 0SSO @ 3O0SO @ OSSO @ IOSO @ OSSO @ OSSO @ 0SSO @ 0SSO



